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CC Algebra

Cumulative Review #4.3
Show work for all questions for full credit 

& write your answers on the lines provided!!!
(If you feel no work is needed you must explain your reasoning.)

1.  A farmer has a rectangular field that measures 100 feet by 150 feet. He plans to increase the area of the field by 20%. He will do this by increasing the length and width by the same amount, x. Which equation represents the area of the new field?

A. (100 + 2x)(150 + x) = 18, 000

B. 2(100 + x) + 2(150 + x) = 15, 000

C. (100 + x)(150 + x) = 18, 000

D.  (100 + x)(150 + x) = 15, 000










1.  _______________

2.  Let f be a function such that f(x) = 2x – 4 is defined on the domain 2 ≤ x ≤ 6.  The range of the function is

A.  0 ≤ y ≤ 8 

B.  0 ≤ y < ∞

C.  2 ≤ y ≤ 6

D.  –∞ < y < ∞     










2.  _______________
3.  Find the average rate of change for the data graphed on the line. 
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3.  _________
4.  If 
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,  solve the equation for f.











4.  _________

5.  The function f(x) = x2 – 8x + 14 has a minimum value at (4, –2).  State the coordinates of the minimum of the function f(x) + 3.  [The use of the accompanying grid is optional]












5. __________
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